							Contrac	t P200.046 - B	l abulation							
		ITEI	MS		South S	State, Inc.	IEW Construc	tion Group, Inc	Railroad	I / Tarheel	Earle Asph	alt Company	RE Pierson Cons	struction Co., Inc.	Agate Constru	ction Co., Inc.
Item No.	Unit Code	QTY	UNIT	DESCRIPTION	RATE	AMOUNT	RATE	AMOUNT	RATE	AMOUNT	RATE	AMOUNT	RATE	AMOUNT	RATE	AMOUNT
1	1D01LAY	1	L.S.	Construction Layout	\$20,000.00	\$20,000.00	\$1,047,000.00	\$1,047,000.00	\$500,000.00	\$500,000.00	\$750,000.00	\$750,000.00	\$250,000.00	\$250,000.00	\$750,000.00	\$750,000.00
2	1D10MOB	1	L.S.	Mobilization	\$2,270,000.00	\$2,270,000.00	\$2,400,000.00	\$2,400,000.00	\$2,437,000.00	\$2,437,000.00	\$2,544,468.96	\$2,544,468.96	\$2,000,000.00	\$2,000,000.00	\$2,400,000.00	\$2,400,000.00
3	1G01SCH	1	L.S.	Progress Schedule	\$12,000.00	\$12,000.00	\$10,619.35	\$10,619.35	\$30,000.00	\$30,000.00	\$39,375.00	\$39,375.00	\$16,000.00	\$16,000.00	\$40,000.00	\$40,000.00
4	2A02CAG	1	L.S.	Clearing and Grubbing	\$220,000.00	\$220,000.00	\$1,000,000.00	\$1,000,000.00	\$1,352,000.00	\$1,352,000.00	\$350,000.00	\$350,000.00	\$500,000.00	\$500,000.00	\$1,219,000.00	\$1,219,000.00
5	2A04CAG	1	L.S.	Clearing Site	\$10,000.00	\$10,000.00	\$11,988.38	\$11,988.38	\$300,000.00	\$300,000.00	\$319,407.16	\$319,407.16	\$175,000.00	\$175,000.00	\$200.00	\$200.00
6	2A05CAG	15	Acre	Clearing Site	\$2,900.00	\$43,500.00	\$4,164.38	\$62,465.70	\$5,000.00	\$75,000.00	\$6,030.00	\$90,450.00	\$3,590.00	\$53,850.00	\$4,000.00	\$60,000.00
7	ODOODEV	100 201 00	CV	Roadway Excavation,	£42.00	f2 500 602 00	¢44.20	¢2 262 866 24	£40.00	£4 000 040 00	£44.00	\$2.400.400.00	\$0.00	\$1,793,556.00	£44.00	\$2.789.976.00
7	2B02REX	199,284.00	C.Y.	Earth Removal of Concrete	\$13.00	\$2,590,692.00	\$11.36	\$2,263,866.24	\$10.00	\$1,992,840.00	\$11.02	\$2,196,109.68	\$9.00	\$1,793,556.00	\$14.00	\$2,789,976.00
8	2B10CPR	265	S.Y.	Pavement	\$30.00	\$7,950.00	\$62.85	\$16,655.25	\$40.00	\$10,600.00	\$24.11	\$6,389.15	\$20.00	\$5,300.00	\$50.00	\$13,250.00
9	2B15STS	43,903.00	C.Y.	Stripping Topsoil	\$12.50	\$548,787.50	\$4.73	\$207,661.19	\$14.00	\$614,642.00	\$6.90	\$302,930.70	\$11.00	\$482,933.00	\$2.00	\$87,806.00
10	2C01EMB	150,205.00	C.Y.	Embankment, Common	\$7.00	\$1,051,435.00	\$1.89	\$283,887.45	\$5.00	\$751,025.00	\$0.01	\$1,502.05	\$11.50	\$1,727,357.50	\$0.01	\$1,502.05
11	2C04EMB	85	C.Y.	Porous Fill	\$80.00	\$6,800.00	\$54.24	\$4,610.40	\$55.00	\$4,675.00	\$72.44	\$6,157.40	\$75.00	\$6,375.00	\$50.00	\$4,250.00
12	2E01FEX	739	C.Y.	Foundataion Excavation	\$23.00	\$16,997.00	\$24.60	\$18,179.40	\$100.00	\$73,900.00	\$27.90	\$20,618.10	\$50.00	\$36,950.00	\$38.00	\$28,082.00
				Trench Excavation,												
13	2F04TEX	9,173.00	L.F.	Electrical	\$1.10	\$10,090.30	\$6.37	\$58,432.01	\$7.00	\$64,211.00	\$1.14	\$10,457.22	\$1.20	\$11,007.60	\$1.25	\$11,466.25
1.1	0540757	44 000 00	CV	Rechange Swale, Stone	¢54.00	\$2,094,519.00	\$55.53	\$2,280,561.57	\$75.00	\$3,080,175.00	\$42.14	¢4 700 647 66	\$50.00	\$2,053,450.00	\$35.00	£4 427 44E 00
14	2F10TEX	41,069.00	C.Y.	Pocket Rechange Swale, Extra	\$51.00	\$2,094,519.00	\$55.53	\$2,280,361.37	\$75.00	\$3,080,175.00	\$42.14	\$1,730,647.66	\$50.00	\$2,053,450.00	\$35.00	\$1,437,415.00
15	2F11TEX	17,979.00	C.Y.	Depth	\$43.00	\$773,097.00	\$18.93	\$340,342.47	\$40.00	\$719,160.00	\$33.24	\$597,621.96	\$40.00	\$719,160.00	\$37.00	\$665,223.00
16	2G00006	6,650.00	C.Y.	Sand Filter Layer	\$27.00	\$179,550.00	\$16.41	\$109,126.50	\$35.00	\$232,750.00	\$21.29	\$141,578.50	\$50.00	\$332,500.00	\$36.00	\$239,400.00
17	2G00009	290	C.Y.	Gabions	\$188.00	\$54,520.00	\$208.22	\$60,383.80	\$600.00	\$174,000.00	\$151.93	\$44,059.70	\$240.00	\$69,600.00	\$450.00	\$130,500.00
18	2G00013	1,918.00	S.F.	Impervious Liner	\$1.00	\$1,918.00	\$0.13	\$249.34	\$3.00	\$5,754.00	\$9.23	\$17,703.14	\$1.20	\$2,301.60	\$1.00	\$1,918.00
				Riprap Stone Scour Hole,												
19	2G00022	617	Ton	12" Thick, D50=6"	\$38.00	\$23,446.00	\$58.05	\$35,816.85	\$75.00	\$46,275.00	\$44.21	\$27,277.57	\$69.00	\$42,573.00	\$20.00	\$12,340.00
20	2G10SEC	326	Ton	Filter Blanket	\$50.00	\$16,300.00	\$59.31	\$19,335.06	\$50.00	\$16,300.00	\$42.53	\$13,864.78	\$42.00	\$13,692.00	\$20.00	\$6,520.00
24	0040400	220	Т	Riprap Stone Aprons, 12"	£40.00	¢42,440,00	\$50.05	£40 E04 90	\$0E.00	¢24.040.00	¢45.07	£45.240.72	CC2 00	P24 400 00	#200 00	¢c7 200 00
21	2G12A06	336	Ton	Thick, D50=6" Riprap Stone Aprons, 24"	\$40.00	\$13,440.00	\$58.05	\$19,504.80	\$65.00	\$21,840.00	\$45.27	\$15,210.72	\$63.00	\$21,168.00	\$200.00	\$67,200.00
22	2G12A08	200	Ton	Thick (D50=12")	\$40.00	\$8,000.00	\$58.05	\$11,610.00	\$70.00	\$14,000.00	\$46.52	\$9,304.00	\$62.00	\$12,400.00	\$20.00	\$4,000.00
				Riprap Stone Ditch	*		******	· /- /	*	,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,		******	• • • • • • • • • • • • • • • • • • • •	, , , , , , , , , , , , , , , , , , , ,	,	, , , , , , , , , , , , , , , , , , , ,
				Protection, 12" Thick,												
23	2G12D07	1,221.00	Ton	D50=6"	\$40.00	\$48,840.00	\$58.05	\$70,879.05	\$50.00	\$61,050.00	\$45.27	\$55,274.67	\$61.00	\$74,481.00	\$20.00	\$24,420.00
24	01105000	F0	Thousand	Watering	CO 04	\$0.50	¢400.20	PO 404 FO	£4.50.00	₹ 7 500 00	POO 40	£4.020.00	CO 04	CO FO	\$50.00	¢2 500 00
24 25	2H05DSC 2H30TEC	50 109,660.00	Gallons L.F.	Silt Fence	\$0.01 \$2.00	\$0.50 \$219,320.00	\$189.29 \$2.15	\$9,464.50 \$235,769.00	\$150.00 \$4.00	\$7,500.00 \$438,640.00	\$80.40 \$2.38	\$4,020.00 \$260,990.80	\$0.01 \$1.45	\$0.50 \$159,007.00	\$50.00 \$2.00	\$2,500.00 \$219,320.00
25	2H301EC	109,000.00	L.F.	Sill Felice	\$2.00	\$219,320.00	\$2.15	\$235,769.00	\$4.00	\$430,040.00	φ2.30	\$200,990.60	\$1.45	\$159,007.00	\$2.00	\$219,320.00
26	2H35TEC	606	L.F.	Floating Turbidity Barriers	\$11.00	\$6,666.00	\$13.88	\$8,411.28	\$50.00	\$30,300.00	\$32.67	\$19,798.02	\$21.00	\$12,726.00	\$30.00	\$18,180.00
27	2H40TEC	163	Each	Inlet Filters	\$65.00	\$10,595.00	\$208.22	\$33,939.86	\$275.00	\$44,825.00	\$174.48	\$28,440.24	\$152.00	\$24,776.00	\$140.00	\$22,820.00
28	2H45TEC	2,168.00	Ton	Construction Driveway	\$25.00	\$54,200.00	\$27.76	\$60,183.68	\$30.00	\$65,040.00	\$30.75	\$66,666.00	\$30.60	\$66,340.80	\$35.00	\$75,880.00
29	2H50TEC	285	L.F.	Temporary Snake Fence	\$4.00	\$1,140.00	\$2.52	\$718.20	\$5.00	\$1,425.00	\$1.98	\$564.30	\$1.45	\$413.25	\$200.00	\$57,000.00
				Maintenance and Removal												
00	01150750	0.005.00		of Temporary Snake Fence	#0.00	₽0.405.00	#0.50	Φ7.040.00	#0.50	\$7.507.50	#4.00	#0.045.50	# 4.00	#5 700 50	#0.00	#04.000.00
30	2H52TEC	3,035.00	L.F.	' '	\$3.00	\$9,105.00	\$2.52	\$7,648.20	\$2.50	\$7,587.50	\$1.30	\$3,945.50	\$1.90	\$5,766.50	\$8.00	\$24,280.00
31	N2H0001	108	C.Y.	Coarse Aggregate Layer	\$70.00	\$7,560.00	\$50.48	\$5,451.84	\$125.00	\$13,500.00	\$75.50	\$8,154.00	\$105.00	\$11,340.00	\$117.76	\$12,718.08
	10001			Demolition of Existing	\$. 5.50	Ţ.,000.00	\$55.70	Ţ=, 10 1.04	Ţ.23.30	Ţ.,555.50	\$. 5.50	Ţ=,.030	Ţ.00.00	Ţ,J.0.00	Ţ s	, · _,· · · · · · ·
32	2J01DES	1	L.S.	Structures	\$786,000.00	\$786,000.00	\$265,132.14	\$265,132.14	\$25,000.00	\$25,000.00	\$0.01	\$0.01	\$45,000.00	\$45,000.00	\$200,000.00	\$200,000.00
				Temporary Orange Plastic		**		*****		A.		***		*****		
33	2K01TPF	9,102.00	L.F.	Fence	\$3.00	\$27,306.00	\$3.79	\$34,496.58	\$5.00	\$45,510.00	\$1.99	\$18,112.98	\$2.00	\$18,204.00	\$3.00	\$27,306.00
34	N2N0001	93,600.00	S.F.	Geogrid Reinforced Slope	\$1.50	\$140,400.00	\$2.84	\$265,824.00	\$2.00	\$187,200.00	\$2.05	\$191,880.00	\$11.50	\$1,076,400.00	\$1.50	\$140,400.00
34	INZINUUU I	33,000.00	J.I .	Aggregate Base Course, 8"	φ1.30	ψ140,400.00	Φ∠.04	Ψ200,024.00	φ2.00	ψ101,200.00	φ∠.∪5	Ψ191,000,00	011.30	ψ1,070,400.00	\$1.50	ψ140,400.00
35	3A08ABC	296,672.00	S.Y.	Thick	\$12.00	\$3,560,064.00	\$10.00	\$2,966,720.00	\$10.00	\$2,966,720.00	\$6.55	\$1,943,201.60	\$10.00	\$2,966,720.00	\$9.00	\$2,670,048.00
				Superpave Hot Mix Asphalt										•		
		440 ==== =	_	25H 64 Base Course		AT 06 :				***		A= 40= === : :	A	00.071.1-1		00.055.515.5
36	3B21SUP	113,762.00	Ton		\$65.00	\$7,394,530.00	\$58.41	\$6,644,838.42	\$61.00	\$6,939,482.00	\$48.07	\$5,468,539.34	\$56.00	\$6,370,672.00	\$55.00	\$6,256,910.00
				Superpave Hot Mix Asphalt												
37	3B23SUP	16,411.00	Ton	19M 64 Base Course	\$65.00	\$1,066,715.00	\$65.31	\$1,071,802.41	\$67.00	\$1,099,537.00	\$57.50	\$943,632.50	\$66.00	\$1,083,126.00	\$62.00	\$1,017,482.00
				Cuparpaya Hat Min A L												
				Superpave Hot Mix Asphalt 12.5H 76 Surface Course												
38	3B25SUP	108,045.00	Ton		\$65.00	\$7,022,925.00	\$70.62	\$7,630,137.90		\$7,239,015.00	\$63.45	\$6,855,455.25	\$62.00	\$6,698,790.00	\$66.00	\$7,130,970.00
39	3B26TAC	136,593.00	Gallon	Tack Coat	\$0.01	\$1,365.93	\$1.53	\$208,987.29	\$3.00	\$409,779.00	\$0.01	\$1,365.93	\$0.01	\$1,365.93	\$1.00	\$136,593.00
				Asphalt Price Adjustment (This is a NO-BID, Lump Sum item for this contract. The Lump Sum price is \$720,000. Enter a Unit Price of \$720,000 as your												
40	3B720APA	_	1.0	bid for this item.)	¢720 000 00	¢700 000 00	\$720 000 CO	¢720 000 00	\$700 000 00	\$720 000 00	¢720 000 00	¢720 000 00	\$720 000 CO	¢720.000.00	\$720,000,00	\$720 000 CO
	3D 730 V D V	11	L.S.	1	\$720,000.00	\$720,000.00	\$720,000.00	\$720,000.00	\$720,000.00	\$720,000.00	\$720,000.00	\$720,000.00	\$720,000.00	\$720,000.00	\$720,000.00	\$720,000.00

Processor Proc									X P200.046 - BI		.,						
11 MacCompan 7th (72) 2th Contract (1500) 2th	Item No	Unit Code			DESCRIPTION												AMOUNT
4	item No.	Unit Code	QII	UNII		RATE	AWOUNT	RAIL	AMOUNT	RATE	AWOUNT	RATE	AMOUNT	RATE	AWOUNT	RATE	AMOUNT
40 30/1004 (4.400.00 Tor. Correct Education Str. 100 100 100 100 100 100 100 100 100 10	41	3E50PMR	218,723.00	S.Y.		\$1.75	\$382,765.25	\$2.65	\$579,615.95	\$2.00	\$437,446.00	\$1.60	\$349,956.80	\$2.25	\$492,126.75	\$3.00	\$656,169.00
44 (900)09 64 CV Convenis foliates 5900 (25), 146, 166 (25), 147, 147, 147, 147, 147, 147, 147, 147	42	3F01MRS	135,312.00	L.F.	Milled Rumble Strip	\$0.15	\$20,296.80	\$0.21	\$28,415.52	\$0.25	\$33,828.00	\$0.23	\$31,121.76	\$0.10	\$13,531.20	\$0.15	\$20,296.80
44 A40000 6 CV Concette To Culture \$480.00 \$14,000.72 \$10,000.72 \$10,000.00 \$15,000.00					Open-Graded Friction												
Authority S		3I01SAS	14,452.00		Course		\$1,011,640.00				\$1,372,940.00		\$1,179,283.20		\$1,372,940.00		\$1,329,584.00
47 4,00001 7 C T T N N N N N N N N N N N N N N N N N	45	4A00005	64	C.Y.	Concrete In Culvert	\$485.00	\$31,040.00	\$1,495.27	\$95,697.28	\$800.00	\$51,200.00	\$1,668.95	\$106,812.80	\$1,400.00	\$89,600.00	\$1,040.00	\$66,560.00
477 August 7 C V Control Robuston St. Section 5 5500 B500 B500 B500 B500 B500 B500 B	40		_	0.14		#		0.1.0.10.5.1	00 747 70	#4 500.00	A 7 500 00	*** *** ** * * * * * *	0 40 007 55	* 0.050.00	A40 750 00	* 4 050 00	40.050.00
47 AAR0012 7 C.V. Apres Bish. \$880.00 \$3,000.0	46	4A00011	5	C.Y.		\$600.00	\$3,000.00	\$1,943.54	\$9,717.70	\$1,500.00	\$7,500.00	\$2,767.51	\$13,837.55	\$3,950.00	\$19,750.00	\$1,850.00	\$9,250.00
## 4401CBH # C V Scientific Statistics ## 500.00 \$33,000.00 \$31,00	47	4400012	7	CV		\$850.00	\$5,950,00	\$820.69	\$5 7 <i>11</i> 83	\$700.00	\$4,900,00	\$713.34	\$4 003 38	\$600.00	\$4 200 00	\$600.00	\$4,200.00
48 AACICSH 4 CV. Hashouth 5000 \$ \$2,000 \$ \$2,000 \$ \$1,500	71	4A00012	,	0.1.		ψ050.00	ψ3,330.00	ψ020.03	ψ5,7 44.05	Ψ700.00	ψ+,500.00	ψ113.54	ψ+,995.50	ψ000.00	ψ4,200.00	φοσο.σσ	ψ4,200.00
49 August C 22 C / C Correcte In Florings \$50,000 \$11,000 \$17,000 \$11,000 \$1	48	4A01CSH	4	C.Y.	· ·	\$800.00	\$3,200.00	\$2,414.98	\$9,659.92	\$1,500.00	\$6,000.00	\$3,377.37	\$13,509.48	\$2,900.00	\$11,600.00	\$1,500.00	\$6,000.00
State Stat	49		22	C.Y.		\$500.00	\$11,000.00	\$780.13	\$17,162.86	\$800.00	\$17,600.00	\$1,485.98	\$32,691.56	\$1,080.00	\$23,760.00	\$850.00	\$18,700.00
ST AA100WF 14 C.Y. Visite Above Facilitys \$875.00 \$11,713.82 \$16,334.64 \$2,000.00 \$38,000.00 \$4,007.75 \$56,945.00 \$2,200.00 \$11,000.00 \$1,000.00	50	4A10RFS	2,700.00	Pound	Reinforcement Steel	\$1.35	\$3,645.00	\$2.61	\$7,047.00	\$1.35	\$3,645.00	\$1.46	\$3,942.00	\$1.50	\$4,050.00	\$1.25	\$3,375.00
Add					Concrete in Retaining												·
Section Pound Express Section Sectio	51	4A10RWF	14	C.Y.	Walls Above Footings	\$875.00	\$12,250.00	\$1,173.82	\$16,433.48	\$2,000.00	\$28,000.00	\$4,067.75	\$56,948.50	\$2,260.00	\$31,640.00	\$1,500.00	\$21,000.00
Sample																	
Second Color Seco	52	4A11RFS	48,000.00	Pound	+ · · ·	\$1.50	\$72,000.00	\$1.34	\$64,320.00	\$1.38	\$66,240.00	\$1.28	\$61,440.00	\$1.30	\$62,400.00	\$1.35	\$64,800.00
## Replacement of Sign Plane on Sign Support Structure	E2	111500	404	Ecah		#00.00	\$0,000,00	¢47.40	¢4.000.40	6400.00	¢40,400,00	# E0 E0	¢E 070 40	#c0.00	¢e 040 co	#20.00	\$2,000,00
Section Sect	ეკ	4A15DGR	104	⊏acn		\$20.00	⊅∠,∪8∪.00	\$47.12	φ4,900.48	\$100.00	\$10,400.00	\$56.53	ა 5,879.12	\$60.00	φο,∠40.00	\$20.00	\$2,080.00
Section Sect																	
Section Sect	54	4F00007	1	Each		\$8,750.00	\$8,750.00	\$13,631.86	\$13,631.86	\$8,900.00	\$8,900.00	\$8,944.50	\$8,944.50	\$5,500.00	\$5,500.00	\$10,000.00	\$10,000.00
Feb		0000.				, , ,	*-,	, ,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,	, .,	*-,	**,***	*-7-	*-/-	*-/	**/***	, ,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,	, ,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,
S7	56	4F11CSP	227	C.Y.		\$735.00	\$166,845.00	\$1,001.89	\$227,429.03	\$1,100.00	\$249,700.00	\$768.83	\$174,524.41	\$970.00	\$220,190.00	\$500.00	\$113,500.00
S7					Overhead Cantilover Sign												
Section Sect					-												
S8	57	4F01CSS	1	L.S.	Support Structure 140. 1	\$65,000.00	\$65,000.00	\$82,867.32	\$82,867.32	\$67,000.00	\$67,000.00	\$67,335.00	\$67,335.00	\$66,000.00	\$66,000.00	\$68,000.00	\$68,000.00
Sea					Overhead Cantilever Sign												
Section Sect	50	4500000			•	PCE 000 00	PCE 000 00	¢00.007.00	¢02.067.22	¢c 7 000 00	¢c7 000 00	PC7 225 00	PC7 225 00	¢cc 000 00	\$66,000,00	¢co 000 00	¢c0,000,00
Separation Sep	58	4F02CSS	1	L.S.	1	\$65,000.00	\$65,000.00	\$82,867.32	\$82,867.32	\$67,000.00	\$67,000.00	\$67,335.00	\$67,335.00	\$66,000.00	\$66,000.00	\$68,000.00	\$68,000.00
Control of Control o	50	4E34OSS	1	1.5		\$125,000,00	\$125,000,00	\$186 601 08	\$186 601 98	\$129,000,00	\$129,000,00	\$129.645.00	\$129 645 00	\$145,000,00	\$145,000,00	\$175,000,00	\$175,000.00
60 4F04CSS 1 L.S. Support Structure No. 4 \$55,000.00 \$55,000.00 \$70,469.25 \$70,469.25 \$56,000.00 \$56,000.00 \$56,280.00 \$56,280.00 \$55,000.00 \$60,000.00 \$61 4F06CSS 1 L.S. Coverhead Cartillever Sign Support Structure No. 6 \$60,000.00 \$78,730.92 \$78,730.92 \$83,000.00 \$63,315.00 \$63,315.00 \$62,000.00 \$62,000.00 \$66,000.00 \$63,000.00 \$63,315.00 \$63,315.00 \$62,000.00 \$60,000.00 \$66,000.00 \$60,000.0	55	41 34033	'	L.O.	Support Structure No. 3	ψ125,000.00	ψ123,000.00	ψ100,001.50	ψ100,001.30	ψ123,000.00	Ψ123,000.00	ψ123,043.00	ψ123,0 4 3.00	φ143,000.00	ψ143,000.00	ψ173,000.00	ψ173,000.00
Contract Cantilever Sign L.S. Coverhead Cantilever Sign Section Se																	
Content Cont	60	4F04CSS	1	L.S.	Support Structure No. 4	\$55,000.00	\$55,000.00	\$70,469.25	\$70,469.25	\$56,000.00	\$56,000.00	\$56,280.00	\$56,280.00	\$55,000.00	\$55,000.00	\$60,000.00	\$60,000.00
61 4F05CSS 1 L.S. Support Structure No. 5 \$60,000.00 \$78,730.92 \$78,730.92 \$63,000.00 \$63,315.00 \$63,315.00 \$62,000.00 \$62,000.00 \$65,000.00 \$62,000.00 \$60,000.00 \$62,000.00 \$60,000.00 \$6					0 1 10 (1 0)												
62 4F06CSS 1 L.S. Overhead Cantilever Sign Support Structure No. 6 \$60,000.00 \$60,000.00 \$78,730.92 \$78,730.92 \$63,000.00 \$63,315.00 \$63,315.00 \$62,000.00 \$62,000.00 \$66,000.00 \$66,000.00 \$66,000.00 \$60,000.00 \$78,730.92 \$78,730.92 \$63,000.00 \$63,315.00 \$63,315.00 \$63,315.00 \$62,000.00 \$66,000.00 \$66,000.00 \$60,000.00 \$78,730.92 \$78,730.92 \$63,000.00 \$63,315.00 \$63,315.00 \$63,315.00 \$62,000.00 \$66,000.00 \$66,000.00 \$60,000.00 \$78,730.92 \$78,730.92 \$63,000.00 \$67,335.00 \$63,315.00 \$66,000.00 \$66,000.00 \$60,000.00 \$60,000.00 \$60,000.00 \$78,730.92																	
62 4F06CSS 1 L.S. Support Structure No. 6 \$60,000.00 \$60,000.00 \$78,730.92 \$78,730.92 \$63,000.00 \$63,315.00 \$63,315.00 \$62,000.00 \$62,000.00 \$66,000.00 \$66,000.00 \$60	61	4F05CSS	1	L.S.	Support Structure No. 3	\$60,000.00	\$60,000.00	\$78,730.92	\$78,730.92	\$63,000.00	\$63,000.00	\$63,315.00	\$63,315.00	\$62,000.00	\$62,000.00	\$65,000.00	\$65,000.00
62 4F06CSS 1 L.S. Support Structure No. 6 \$60,000.00 \$60,000.00 \$78,730.92 \$78,730.92 \$63,000.00 \$63,315.00 \$63,315.00 \$62,000.00 \$62,000.00 \$66,000.00 \$66,000.00 \$60					Overhead Cantilever Sign												
Comparison of the Comparison	60	4500000				free 000 00	\$ \$	¢70 720 02	¢70,720,02	¢c2 000 00	# 62,000,00	PC2 24E 00	PC2 24E 00	¢c2 000 00	rc2 000 00	\$00,000,00	¢cc 000 00
63 4F07CSS 1 L.S. Support Structure No. 7 \$60,000.00 \$60,000.00 \$78,730.92 \$78,730.92 \$63,000.00 \$63,000.00 \$63,315.00 \$62,000.00 \$62,000.00 \$66,000.00 \$6	02	4F06CSS	'	L.S.		\$60,000.00	\$60,000.00	\$78,730.92	\$78,730.92	\$63,000.00	\$63,000.00	\$63,315.00	\$63,315.00	\$62,000.00	\$62,000.00	\$66,000.00	\$66,000.00
64 4F0CSS 1 L.S. Support Structure No. 18 \$65,000.00 \$66,000.00 \$78,730.92 \$78,730.92 \$63,000.00 \$63,315.00 \$63,315.00 \$63,000.00 \$63,000.00 \$65,000.00 \$65,000.00 \$65,000.00 \$65,000.00 \$65,000.00 \$65,000.00 \$66,000.00 \$6																	
64 4F08CSS 1 L.S. Overhead Cantilever Sign Support Structure No. 8 \$65,000.00 \$65,000.00 \$83,328.77 \$83,328.77 \$67,000.00 \$67,000.00 \$67,335.00 \$66,500.00 \$66,500.00 \$66,500.00 \$69,000.00 \$65,000.00	63	4F07CSS	1	L.S.	Support Structure No. 7	\$60,000.00	\$60,000.00	\$78,730.92	\$78,730.92	\$63,000.00	\$63,000.00	\$63,315.00	\$63,315.00	\$62,000.00	\$62,000.00	\$66,000.00	\$66,000.00
64 4F08CSS 1 L.S. Support Structure No. 8 \$65,000.00 \$65,000.00 \$83,328.77 \$67,000.00 \$67,000.00 \$67,335.00 \$66,500.00 \$66,500.00 \$69,000.00 \$69,000.00 \$65,000.00 \$66,000.00 \$6					Overther and Overtiles are Oissue	·		·		·		·					
64 4F08CSS 1 L.S. S65,000.00 \$63,000.00 \$67,																	
65 4F09CSS 1 L.S. Support Structure No. 9 \$60,000.00 \$78,730.92 \$78,730.92 \$63,000.00 \$63,000.00 \$63,315.00 \$63,000.00 \$64,000.00 \$6	64	4F08CSS	1	L.S.	Support Structure No. 6	\$65,000.00	\$65,000.00	\$83,328.77	\$83,328.77	\$67,000.00	\$67,000.00	\$67,335.00	\$67,335.00	\$66,500.00	\$66,500.00	\$69,000.00	\$69,000.00
65 4F09CSS 1 L.S. Support Structure No. 9 \$60,000.00 \$78,730.92 \$78,730.92 \$63,000.00 \$63,000.00 \$63,315.00 \$63,000.00 \$64,000.00 \$6					Overhead Cantilever Sign												
66 4F10CSS 1 L.S.	er	4500000				600 000 00	# 00,000,00	¢70 700 00	¢70 700 00	\$00,000,00	#ea eoo eo	¢00.045.00	#00 04F 00	\$60,000,00	\$60.000.00	\$ CE 000 00	\$05.000.00
66 4F10CSS 1 L.S. Support Structure No. 10 \$61,000.00 \$78,730.92 \$78,730.92 \$63,000.00 \$63,000.00 \$63,315.00 \$63,000.00 \$63,000.00 \$65,000.00 \$65,000.00 \$67,000.00 \$67,000.00 \$78,730.92 \$78,730.92 \$63,000.00 \$63,000.00 \$63,315.00 \$63,000.00 \$	co	4F09CSS	1	L.S.		φου,υυυ.00	Φ00,000,000	\$10,13U.92	φ/8,/3U.92	ათ,000.00	ათა,იიი	ანა,პ15.00	ანა,ა15.00	ადა,სსს.00	აიკ,000.00	0υ.υυυ,σσφ	\$65,000.00
66 4F10CSS 1 L.S. Overhead Cantilever Sign Support Structure No. 11 \$74,000.00 \$74,000.00 \$78,730.92 \$78,730.92 \$63,000.00 \$63,000.00 \$63,315.00 \$63,315.00 \$63,000.00 \$63,000.00 \$65,000.0																	
Overhead Cantilever Sign Support Structure No. 11	66	4F10CSS	1	L.S.	Support Structure No. 10	\$61.000.00	\$61,000.00	\$78,730.92	\$78,730.92	\$63.000.00	\$63,000.00	\$63,315.00	\$63,315.00	\$63.000.00	\$63.000.00	\$65,000.00	\$65,000.00
67 4F11CSS 1 L.S. Support Structure No. 11 \$74,000.00 \$74,000.00 \$78,730.92 \$63,000.00 \$63,000.00 \$63,315.00 \$63,315.00 \$63,000.00 \$65,000.00 \$		5000				‡ 2.,000.00	+= 1,000.00	Ţ. 3,7 GG.GZ	Ţ. 5,1 55.5Z	+13,000.00	\$10,000.00	Ţ.2.,O.0.00	Ţ_0,0.0.00	‡ 23,000.00	‡ 13,000.00	+==,000.00	+13,000.00
67 4F1CSS 1 L.S.																	
68 4F12CSS 1 L.S. Support Structure No. 12 \$62,000.00 \$62,000.00 \$80,426.62 \$80,426.62 \$64,000.00 \$64,000.00 \$64,320.00 \$64,320.00 \$64,000.00 \$64,000.00 \$65,000.00 \$	67	4F11CSS	1	L.S.	Support Structure No. 11	\$74,000.00	\$74,000.00	\$78,730.92	\$78,730.92	\$63,000.00	\$63,000.00	\$63,315.00	\$63,315.00	\$63,000.00	\$63,000.00	\$65,000.00	\$65,000.00
68 4F12CSS 1 L.S. Support Structure No. 12 \$62,000.00 \$62,000.00 \$80,426.62 \$80,426.62 \$64,000.00 \$64,000.00 \$64,320.00 \$64,320.00 \$64,000.00 \$64,000.00 \$65,000.00 \$					Overhead Cantilovor Sign												
68 4F12CSS 1 L.S. " \$62,000.00 \$62,000.00 \$80,426.62 \$80,426.62 \$64,000.00 \$64,320.00 \$64,320.00 \$64,000.00 \$64,000.00 \$65,000.00 \$6						.						.	4				
Support Structure No. 13	68	4F12CSS	1	L.S.		\$62,000.00	\$62,000.00	\$80,426.62	\$80,426.62	\$64,000.00	\$64,000.00	\$64,320.00	\$64,320.00	\$64,000.00	\$64,000.00	\$65,000.00	\$65,000.00
Support Structure No. 13					Overhead Span Sign												
I 69 I AFAAOSS I 11 I.S. I TEET TO THE TOTAL STANDARD ON ONL \$120 000 001 \$120 000 001 \$175 A82 6AI \$175 A82 6AI \$122 000 001 \$122 000 001 \$122 610 001 \$122 610 001 \$120 000 001 \$140 000 001 \$140 000 001	69	4F44OSS	1	L.S.	Support Structure No. 13	\$120,000.00	\$120,000.00	\$175,482.64	\$175,482.64	\$122,000.00	\$122,000.00	\$122,610.00	\$122,610.00	\$140,000.00	\$140,000.00	\$150,000.00	\$150,000.00
		TI +4000	'	L.U.		ψ120,000.00	ψ120,000.00	ψ110,702.04	Ψ170,402.04	Ψ122,000.00	Ψ122,000.00	Ψ122,010.00	Ψ122,010.00	ψ170,000.00	Ψ1-10,000.00	ψ100,000.00	ψ100,000.00
Overhead Cantilever Sign																	
70 4F14CSS 1 L.S. Support Structure No. 14 \$61,000.00 \$61,000.00 \$78,730.92 \$78,730.92 \$63,500.00 \$63,500.00 \$63,817.50 \$63,817.50 \$63,000.00 \$63,000.00 \$65,000.00	70	4F14CSS	1	L.S.	Support Structure No. 14	\$61,000.00	\$61,000.00	\$78,730.92	\$78,730.92	\$63,500.00	\$63,500.00	\$63,817.50	\$63,817.50	\$63,000.00	\$63,000.00	\$65,000.00	\$65,000.00
					Outside and One Of	·	·	·	·	·		·	*		·		•
Overhead Span Sign Support Structure No. 15 Support Structure No. 15																	
71 4F46OSS 1 L.S. Support Structure No. 15 \$120,000.00 \$120,000.00 \$175,482.64 \$175,482.64 \$122,000.00 \$122,000.00 \$122,610.00 \$122,610.00 \$140,000.00 \$140,000.00 \$150,000.00	71	4F46OSS	1	L.S.	Support Structure NO. 15	\$120,000.00	\$120,000.00	\$175,482.64	\$175,482.64	\$122,000.00	\$122,000.00	\$122,610.00	\$122,610.00	\$140,000.00	\$140,000.00	\$150,000.00	\$150,000.00
Overhead Span Sign					Overhead Span Sign												
Support Structure No. 16	70	45.47000				¢400.000.00	£400 000 00	£470.040.44	P470 040 44	#40E 000 00	£405.000.00	¢405.005.00	#405.005.00	£4.40.000.00	¢4.40.000.00	¢450 000 00	0450 000 00
72 4F47OSS 1 L.S. Support Statistical Five: 10 \$123,000.00 \$123,000.00 \$178,818.44 \$178,818.44 \$125,000.00 \$125,000.00 \$125,625.00 \$125,625.00 \$140,000.00 \$140,000.00 \$150,000.00	12	4F4/OSS	1	L.S.		\$123,000.00	\$123,000.00	\$178,818.44	\$178,818.44	\$125,000.00	\$125,000.00	\$125,625.00	\$125,625.00	\$140,000.00	\$140,000.00	\$150,000.00	\$150,000.00

<u> </u>				Т		1	Contrac	ct P200.046 - B	id Tabulation	Т			Г		1	
		ITE	MS		South S	tate, Inc.	IEW Construc	tion Group, Inc	Railroad	I / Tarheel	Earle Asph	alt Company	RE Pierson Cons	struction Co., Inc.	Agate Constru	ction Co., Inc.
Item No.	Unit Code	QTY	UNIT	DESCRIPTION	RATE	AMOUNT	RATE	AMOUNT	RATE	AMOUNT	RATE	AMOUNT	RATE	AMOUNT	RATE	AMOUNT
73	4F17CSS	1	L.S.	Overhead Cantilever Sign Support Structure No. 17	\$61,000.00	\$61,000.00	\$78,730.92	\$78,730.92	\$63,000.00	\$63,000.00	\$63,315.00	\$63,315.00	\$63,000.00	\$63,000.00	\$65,000.00	\$65,000.00
74	4F49OSS	1	L.S.	Overhead Span Sign Support Structure No. 18	\$125,000.00	\$125,000.00	\$186,601.98	\$186,601.98	\$128,000.00	\$128,000.00	\$128,640.00	\$128,640.00	\$143,000.00	\$143,000.00	\$150,000.00	\$150,000.00
75	4F19CSS	1	L.S.	Overhead Cantilever Sign Support Structure No. 19	\$70,000.00	\$70,000.00	\$88,393.63	\$88,393.63	\$71,500.00	\$71,500.00	\$71,857.50	\$71,857.50	\$72,000.00	\$72,000.00	\$65,000.00	\$65,000.00
76	4F21CSS	1	L.S.	Overhead Cantilever Sign Support Structure No. 20	\$65,000.00	\$65,000.00	\$82,867.32	\$82,867.32	\$67,000.00	\$67,000.00	\$67,335.00	\$67,335.00	\$72,000.00	\$72,000.00	\$65,000.00	\$65,000.00
77	4F23CSS	1	L.S.	Overhead Cantilever Sign Support Structure No. 21	\$65,000.00	\$65,000.00	\$82,867.32	\$82,867.32	\$66,750.00	\$66,750.00	\$67,083.75	\$67,083.75	\$66,000.00	\$66,000.00	\$65,000.00	\$65,000.00
78	4F24CSS	1	L.S.	Overhead Cantilever Sign Support Structure No. 22	\$65,000.00	\$65,000.00	\$82,867.32	\$82,867.32	\$67,000.00	\$67,000.00	\$67,335.00	\$67,335.00	\$66,000.00	\$66,000.00	\$65,000.00	\$65,000.00
79	4F25CSS	1	L.S.	Overhead Cantilever Sign Support Structure No. 23	\$65,000.00	\$65,000.00	\$82,867.32	\$82,867.32	\$67,000.00	\$67,000.00	\$67,335.00	\$67,335.00	\$63,000.00	\$63,000.00	\$65,000.00	\$65,000.00
80	4F26CSS	1	L.S.	Overhead Cantilever Sign Support Structure No. 25	\$61,000.00	\$61,000.00	\$78,730.92	\$78,730.92	\$64,000.00	\$64,000.00	\$64,320.00	\$64,320.00	\$63,000.00	\$63,000.00	\$65,000.00	\$65,000.00
81	4F27CSS	1	L.S.	Overhead Cantilever Sign Support Structure No. 26	\$60,000.00	\$60,000.00	\$78,730.92	\$78,730.92	\$62,000.00	\$62,000.00	\$62,130.00	\$62,130.00	\$63,000.00	\$63,000.00	\$60,000.00	\$60,000.00
82	N4F0009	3	Each	Express EZ-Pass Equipment Gantry	\$43,000.00	\$129,000.00	\$78,980.05	\$236,940.15	\$53,000.00	\$159,000.00	\$45,225.00	\$135,675.00	\$51,000.00	\$153,000.00	\$45,000.00	\$135,000.00
83	4J03DAW	860	S.F.	Epoxy Resin Waterproofing	\$1.75	\$1,505.00	\$7.53	\$6,475.80	\$10.00	\$8,600.00	\$5.28	\$4,540.80	\$3.00	\$2,580.00	\$5.00	\$4,300.00
84	4Q01APJ	630	L.F.	Asphaltic Plug Joint	\$110.00	\$69,300.00	\$124.99	\$78,743.70	\$100.00	\$63,000.00	\$120.24	\$75,751.20	\$126.00	\$79,380.00	\$240.00	\$151,200.00
85	4ZL0005	20	L.F.	Obstructions	\$500.00	\$10,000.00	\$345.13	\$6,902.60	\$1,000.00	\$20,000.00	\$326.63	\$6,532.60	\$1,500.00	\$30,000.00	\$500.00	\$10,000.00
86	4ZL0006	30	Each	Crosshole Sonic Logging (CSL) of Drilled Shaft	\$500.00	\$15,000.00	\$1,168.13	\$35,043.90	\$1,100.00	\$33,000.00	\$1,105.50	\$33,165.00	\$975.00	\$29,250.00	\$2,000.00	\$60,000.00
87	4ZL0008	126	L.F.	Concrete Coring at Drilled Shaft, If and Where Directed	\$50.00	\$6,300.00	\$212.39	\$26,761.14	\$20.00	\$2,520.00	\$35.18	\$4,432.68	\$40.00	\$5,040.00	\$20.00	\$2,520.00
88	4ZL0010	432	L.F.	54" Diameter Drilled Shaft	\$700.00	\$302,400.00	\$848.49	\$366,547.68	\$900.00	\$388,800.00	\$757.77	\$327,356.64	\$550.00	\$237,600.00	\$850.00	\$367,200.00
89	4ZL04DDS	370	L.F.	48" Diameter Drilled Shaft	\$800.00	\$296,000.00	\$742.29	\$274,647.30	\$800.00	\$296,000.00	\$924.60	\$342,102.00	\$375.00	\$138,750.00	\$700.00	\$259,000.00
90	N5A0002	165	L.F.	16" Trench Drain	\$60.00	\$9,900.00	\$397.51	\$65,589.15	\$250.00	\$41,250.00	\$315.99	\$52,138.35	\$162.00	\$26,730.00	\$255.00	\$42,075.00
91	5B00001	2	Each	36" Reinforced Concrete Flared End Section 42" Reinforced Concrete	\$2,000.00	\$4,000.00	\$2,713.16	\$5,426.32	\$2,000.00	\$4,000.00	\$2,065.64	\$4,131.28	\$1,690.00	\$3,380.00	\$2,000.00	\$4,000.00
92	5B00004	68	L.F.	Culvert Pipe 12" Reinforced Concrete	\$260.00	\$17,680.00	\$157.74	\$10,726.32	\$200.00	\$13,600.00	\$184.91	\$12,573.88	\$133.00	\$9,044.00	\$130.00	\$8,840.00
93	5B12FCE	1	Each	Flared End Section	\$1,300.00	\$1,300.00	\$1,072.64	\$1,072.64	\$1,300.00	\$1,300.00	\$739.05	\$739.05	\$1,990.00	\$1,990.00	\$800.00	\$800.00
94	5B12RC4	1,425.00	L.F.	12" Reinforced Concrete Pipe, Class IV	\$125.00	\$178,125.00	\$44.17	\$62,942.25	\$115.00	\$163,875.00	\$46.51	\$66,276.75	\$135.00	\$192,375.00	\$37.00	\$52,725.00
95	5B12RC5	9	L.F.	12" Reinforced Concrete Pipe, Class V	\$230.00	\$2,070.00	\$119.88	\$1,078.92	\$130.00	\$1,170.00	\$44.56	\$401.04	\$117.00	\$1,053.00	\$65.00	\$585.00
96	5B15RC4	5,297.00	L.F.	15" Reinforced Concrete Pipe, Class IV 15" Reinforced Concrete	\$50.00	\$264,850.00	\$47.95	\$253,991.15	\$60.00	\$317,820.00	\$36.39	\$192,757.83	\$44.00	\$233,068.00	\$42.00	\$222,474.00
97	5B15RCE	17	Each	Flared End Section 18" Reinforced Concrete	\$1,300.00	\$22,100.00	\$1,230.39	\$20,916.63	\$1,200.00	\$20,400.00	\$767.16	\$13,041.72	\$950.00	\$16,150.00	\$800.00	\$13,600.00
98	5B18RC4	4,291.00	L.F.	Pipe, Class IV 18" Reinforced Concrete	\$55.00	\$236,005.00	\$56.79	\$243,685.89	\$65.00	\$278,915.00	\$38.70	\$166,061.70	\$41.00	\$175,931.00	\$40.00	\$171,640.00
99	5B18RCE	14	Each	Flared End Section 24" Reinforced Concrete	\$1,400.00	\$19,600.00	\$1,577.42	\$22,083.88	\$1,300.00	\$18,200.00	\$823.41	\$11,527.74	\$1,000.00	\$14,000.00	\$900.00	\$12,600.00
100	5B24RC4	1,826.00	L.F.	Pipe, Class IV 24" Reinforced Concrete	\$75.00	\$136,950.00	\$78.24	\$142,866.24	\$80.00	\$146,080.00	\$41.21	\$75,249.46	\$66.00	\$120,516.00	\$62.00	\$113,212.00
101	5B24RCE 5B30RC4	80	Each L.F.	Flared End Sections 30" Reinforced Concrete Pipe, Class IV	\$2,050.00 \$200.00	\$16,400.00 \$16,000.00	\$2,019.10 \$100.95	\$16,152.80 \$8,076.00	\$1,500.00 \$100.00	\$12,000.00 \$8,000.00	\$964.03 \$144.50	\$7,712.24 \$11,560.00	\$1,140.00 \$102.00	\$9,120.00 \$8,160.00	\$1,200.00 \$83.00	\$9,600.00 \$6,640.00
		60		30" Reinforced Concrete										·		
103	5B30RCE	25	Each L.F.	Flared End Sections 36" Reinforced Concrete	\$2,350.00 \$200.00	\$9,400.00 \$5,000.00	\$2,334.58 \$123.67	\$9,338.32 \$3,091.75	\$1,700.00 \$160.00	\$6,800.00 \$4,000.00	\$1,716.07 \$200.88	\$6,864.28 \$5,022.00	\$1,360.00 \$108.00	\$5,440.00 \$2,700.00	\$1,400.00 \$126.00	\$5,600.00 \$3,150.00
104	5B36RC4 5B42FCE	∠5 5	Each	Pipe, Class IV 42" Reinforced Concrete Flared End Sections	\$3,700.00	\$18,500.00	\$4,038.19	\$3,091.75	\$2,700.00	\$4,000.00 \$13,500.00	\$2,628.14	\$5,022.00	\$1,500.00	\$2,700.00 \$7,500.00	\$2,600.00	\$3,150.00
103	JUHZFUE	<u>ي</u>	Laui	i iaitu Liiu Sections	ψ3,100.00	ψ10,500.00	ψ+,030.19	Ψ20, 130.93	ΨΖ,1 00.00	ψ13,300.00	ΨΖ,0Ζ0.14	ψ13,140.70	ψ1,300.00	ψ1,500.00	Ψ2,000.00	ψ13,000.00

					Contract P200.046 - B				u rabulation				I			
		ITEI	ИS		South St	tate, Inc.	IEW Construc	tion Group, Inc	Railroad	/ Tarheel	Earle Asph	alt Company	RE Pierson Construction Co., Inc.		Agate Construction Co., Inc.	
Item No.	Unit Code	QTY	UNIT	DESCRIPTION	RATE	AMOUNT	RATE	AMOUNT	RATE	AMOUNT	RATE	AMOUNT	RATE	AMOUNT	RATE	AMOUNT
106	5B48FCE	1	Each	48" Reinforced Concrete Flared End Sections	\$4,800.00	\$4,800.00	\$5,300.13	\$5,300.13	\$3,000.00	\$3,000.00	\$2,965.65	\$2,965.65	\$2,720.00	\$2,720.00	\$3,200.00	\$3,200.00
407				48" Reinforced Concrete	# 000 00	\$7 ,000,00	4000.04	A 7 050 04	0000.00	A 7 000 00	0040.00	AT 070 40	0440.00	A E 050 00	# 400.00	45.000.00
107	5B48RC3	36	L.F.	Pipe, Class III	\$200.00	\$7,200.00	\$220.84	\$7,950.24	\$200.00	\$7,200.00	\$213.06	\$7,670.16		\$5,256.00	\$162.00	\$5,832.00
108	5C00010	2	Unit Unit	Inlet, Type D1 (NJDOT)	\$3,600.00 \$4,000.00	\$7,200.00 \$12,000.00	\$3,154.84 \$3,154.84	\$6,309.68 \$9,464.52	\$5,500.00 \$6,000.00	\$11,000.00 \$18,000.00	\$2,666.70 \$3,617.93	\$5,333.40	\$3,040.00 \$4,440.00	\$6,080.00 \$13,320.00	\$3,500.00 \$4,900.00	\$7,000.00
109 110	5C00011	21	Each	Inlet, Type D2 (NJDOT)	\$4,000.00	\$88,200.00	\$3,154.84	\$9,464.52 \$66,251.64	\$4,500.00	\$94,500.00	\$2,332.61	\$10,853.79 \$48,984.81	\$2,000.00	\$13,320.00	\$3,000.00	\$14,700.00 \$63,000.00
111	5C01ND1 5C01ND2	87	Each	Inlet, Type D1 Inlet, Type D2	\$4,200.00	\$365,400.00	\$3,154.84	\$274,471.08	\$5,000.00	\$435,000.00	\$2,766.62	\$240,695.94	\$2,000.00	\$191,400.00	\$4,000.00	\$348,000.00
111	3C01ND2	01	Lacii		ψ4,200.00	ψ303,400.00	ψ5,154.04	Ψ274,471.00	ψ5,000.00	ψ+35,000.00	Ψ2,700.02	Ψ240,030.34	Ψ2,200.00	ψ131,400.00	ψ+,000.00	ψ3-τ0,000.00
112	5C10INT	1	Each	Inlet Converted to Manhole	\$1,500.00	\$1,500.00	\$3,028.64	\$3,028.64	\$8,000.00	\$8,000.00	\$1,624.33	\$1,624.33	\$2,010.00	\$2,010.00	\$1,730.00	\$1,730.00
				Reconstructed Inlet, Type D1, Using New Grate and												
113	5C10ND1	3	Each	Frame	\$2,400.00	\$7,200.00	\$2,397.68	\$7,193.04	\$4,000.00	\$12,000.00	\$1,515.01	\$4,545.03	\$2,720.00	\$8,160.00	\$2,700.00	\$8,100.00
114	5040NID0	4	Each	Reconstructed Inlet, Type D2, Using New Grate and	\$4,300.00	\$4,300.00	\$2,397.68	\$2,397.68	\$4,500.00	\$4,500.00	\$1,861.50	\$1,861.50	\$2,130.00	\$2,130.00	\$3,400.00	\$3,400.00
	5C10ND2	16	Each	Frame Manhala Type B 1	\$3,200.00	\$4,300.00 \$51,200.00	\$2,397.08	\$2,397.68 \$46.439.20	\$6,500.00	\$104,000.00	\$2,076.80	\$33,228.80	\$2,130.00	\$2,130.00 \$51,840.00	\$3,400.00	\$3,400.00
115 116	5C20NP1 5C40RSF	16 39	Each	Manhole, Type P-1 Reset Frame	\$3,200.00	\$51,200.00	\$2,902.45 \$283.94	\$46,439.20 \$11,073.66	\$6,500.00	\$104,000.00	\$2,076.80	\$33,228.80 \$10,841.61	\$3,240.00	\$51,840.00 \$14,430.00	\$4,500.00 \$500.00	\$19,500.00
110	5C40K3F	33	Lacii	Clean Existing Drainage	Ψ200.00	ψ1,000.00	Ψ203.54	ψ11,073.00	ψ000.00	Ψ25,400.00	Ψ211.33	\$10,041.01	ψ57 0.00	ψ14,430.00	ψ500.00	ψ19,300.00
117	5C56CDS	7,181.00	L.F.	System	\$3.00	\$21,543.00	\$8.20	\$58,884.20	\$10.00	\$71,810.00	\$3.02	\$21,686.62	\$3.50	\$25,133.50	\$10.00	\$71,810.00
118	5D10INC	32	C.Y.	Incidental Concrete	\$800.00	\$25,600.00	\$1,829.81	\$58,553.92	\$1,500.00	\$48,000.00	\$405.59	\$12,978.88	\$500.00	\$16,000.00	\$3,000.00	\$96,000.00
119	5E01ALC	2,378.00	L.F.	Asphalt Concrete Lip Curb	\$9.00	\$21,402.00	\$9.42	\$22,400.76	\$9.00	\$21,402.00	\$13.49	\$32,079.22	\$14.50	\$34,481.00	\$10.00	\$23,780.00
120	N5F0001	1,387.00	L.F.	9" X 18" Concrete Curb	\$22.00	\$30,514.00	\$18.58	\$25,770.46	\$16.10	\$22,330.70	\$21.06	\$29,210.22	\$16.50	\$22,885.50	\$18.00	\$24,966.00
1	1101 0001	,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,		17" X 32" Concrete Barrier		*************************************	*******	4 = 0 , 00	\$10110	*************************************			7.0.00	V ==,000100	*******	*************************************
121	5H00CBC	729	L.F.	Curb	\$81.00	\$59,049.00	\$100.88	\$73,541.52	\$84.00	\$61,236.00	\$118.87	\$86,656.23	\$99.00	\$72,171.00	\$95.00	\$69,255.00
122	5H01CBC	394	L.F.	17" X 42" Concrete Barrier Curb	\$96.00	\$37,824.00	\$105.13	\$41,421.22	\$100.00	\$39,400.00	\$112.89	\$44,478.66	\$102.50	\$40,385.00	\$99.00	\$39,006.00
				28" X Variable Height	·		·				·					•
123	5H28BCV	809	L.F.	Concrete Barrier Curb Guide Sign Panels, Type	\$135.00	\$109,215.00	\$133.80	\$108,244.20	\$140.00	\$113,260.00	\$150.02	\$121,366.18	\$130.00	\$105,170.00	\$126.00	\$101,934.00
124	5100003	6,330.00	S.F.	GO	\$15.00	\$94,950.00	\$23.90	\$151,287.00	\$18.00	\$113,940.00	\$18.09	\$114,509.70	\$13.50	\$85,455.00	\$20.00	\$126,600.00
125	5100004	205	S.F.	Sign Panels, Type GA	\$29.00	\$5,945.00	\$33.11	\$6,787.55	\$40.00	\$8,200.00	\$40.20	\$8,241.00	\$25.00	\$5,125.00	\$45.00	\$9,225.00
126	5I01RES	1	Each	Relocate Existing Ground- Mounted Sign	\$147.00	\$588.00	\$291.84	\$1,167.36	\$75.00	\$300.00	\$201.00	\$804.00	\$275.00	\$1,100.00	\$220.00	\$880.00
127	5I01KLS 5I01SNP	1,260.00	S.F.	Sign Panels	\$25.00	\$31,500.00	\$22.22	\$27,997.20	\$25.00	\$31,500.00	\$26.13	\$32,923.80	\$21.00	\$26,460.00	\$25.00	\$31,500.00
128	5I11REM	10	Each	Remove Signs	\$97.00	\$970.00	\$194.80	\$1,948.00	\$50.00	\$500.00	\$100.50	\$1,005.00	\$190.00	\$1,900.00	\$100.00	\$1,000.00
129	5J00FGT	65	Each	Flared Guide Rail Terminal	\$1,900.00	\$123,500.00	\$1,629.52	\$105,918.80	\$1,534.48	\$99,741.20	\$1,542.15	\$100,239.75		\$104,000.00	\$1,500.00	\$97,500.00
129	5300FG1	03	Lacii	Beam Guide Rail Element,	φ1,900.00	ψ123,300.00	φ1,029.32	\$103,910.00	φ1,334.40	\$99,741.20	\$1,542.15	\$100,239.73	φ1,000.00	\$104,000.00	\$1,500.00	φ97,300.00
130	E IEODOE	50	L.F.	Weathering Steel	\$28.00	\$1,400.00	\$3.86	\$193.00	\$3.63	\$181.50	\$3.65	\$182.50	\$3.80	\$190.00	\$4.00	\$200.00
130	5J50BGE	50	L.F.	Beam Guide Rail	\$28.00	\$1,400.00	\$3.80	\$193.00	\$3.03	\$181.50	\$3.00	\$182.50	\$3.60	\$190.00	\$4.00	\$200.00
				Anchorage, Weathering												
131	5J52ABW	64	Each	Steel	\$450.00	\$28,800.00	\$370.35	\$23,702.40	\$348.75	\$22,320.00	\$350.49	\$22,431.36	\$350.00	\$22,400.00	\$350.00	\$22,400.00
132	5J54BGP	12	Each	Beam Guide Rail Post	\$46.00	\$552.00	\$44.44	\$533.28	\$41.85	\$502.20	\$42.06	\$504.72	\$42.00	\$504.00	\$42.00	\$504.00
400	E 15050141	05.070.00		Beam Guide Rail,	640.00	£40.4 500 00	* 45	ØE04 504 50	64460	PEOC 400 C	M4400	ΦΕΩΕ ΩΩΕ 1Ω	04450	ØE40 004 00	644 00	£405.000.00
133 134	5J50BGW 5J53RRW	35,378.00 2,378.00	L.F.	Weathering Steel Rub Rail, Weathing Steel	\$12.00 \$4.00	\$424,536.00 \$9,512.00	\$15.11 \$6.30	\$534,561.58 \$14,981.40	\$14.23 \$5.93	\$503,428.94 \$14,101.54	\$14.30 \$5.96	\$505,905.40 \$14,172.88	\$14.50 \$6.00	\$512,981.00 \$14,268.00	\$14.00 \$6.00	\$495,292.00 \$14,268.00
134	SUDSKKVV	۷,310.00	L.F.	Rub Rail, Weathing Steel Reset Beam Guide Rail	φ4.00	φ9,312.00	φυ.30	ψ14,901.4U	φυ.93	φ14,101.34	φυ.90	φ14,172.88	φ0.00	ψ14,200.00	φυ.00	φ14,200.00
135	5J55RGP	1,628.00	L.F.	with Existing Post	\$8.00	\$13,024.00	\$3.16	\$5,144.48	\$2.98	\$4,851.44	\$2.99	\$4,867.72	\$3.00	\$4,884.00	\$3.00	\$4,884.00
136	5N04PCS	582	S.Y.	Concrete Sidewalk, 4" Thick	\$47.00	\$27,354.00	\$42.21	\$24,566.22	\$40.50	\$23,571.00	\$41.16	\$23,955.12	\$45.50	\$26,481.00	\$40.00	\$23,280.00
407	50045011	000	Fa-h	Delineator, Type Ground	004.00	Ф 7 000 00	#00.00	#0.000.00	607.6 0	# 0.070.00	MO4 10	60.040.00	#00.00	#0.400.00	#05.00	P40 500 00
137	5001DGM	300	Each	Mounted	\$24.00	\$7,200.00	\$29.63	\$8,889.00	\$27.90	\$8,370.00	\$31.16	\$9,348.00		\$8,400.00	\$35.00 \$17.00	\$10,500.00
138 139	5O20GASW 5O20GASY	35 90	Each Each	Delineator, Type GAS-W Delineator, Type GAS-Y	\$9.50 \$9.50	\$332.50 \$855.00	\$29.63 \$29.63	\$1,037.05 \$2,666.70	\$27.90 \$27.90	\$976.50 \$2,511.00	\$15.08 \$15.08	\$527.80 \$1,357.20	\$28.00 \$28.00	\$980.00 \$2,520.00	\$17.00 \$17.00	\$595.00 \$1,530.00
139	UZUGASY	90	EdUII	Pavement Striping, White	ф9.00	00.000	⊅∠9. 03	φ∠,000.70	\$∠1.90	φ∠,511.00	\$15.U8	\$1,357.20	\$20.00	φ2,520.00	\$17.00	φ1,530.00
140	5P06PTW	167,495.00	L.F.	6" Wide	\$0.40	\$66,998.00	\$0.47	\$78,722.65	\$0.44	\$73,697.80	\$1.50	\$251,242.50	\$0.45	\$75,372.75	\$0.50	\$83,747.50
141	5P06PTY	89,700.00	L.F.	Pavement Striping, Yellow, 6" Wide	\$0.40	\$35,880.00	\$0.47	\$42,159.00	\$0.44	\$39,468.00	\$1.50	\$134,550.00	\$0.45	\$40,365.00	\$0.50	\$44,850.00
4.40	EDOZDE:	149 000 00	1.5	Removal of Pavement	#0.05	ΦE4 000 00	#0.40	ØE0 000 00	#0.00	ØE0 040 00	#0.01	Ø4 400 00	00.40	ØEO 000 00	#0.5 0	Ф 7 4 000 00
142	5P07REM	148,000.00	L.F.	Stripes (Hydromilling) Temporary Pavement	\$0.35	\$51,800.00	\$0.40	\$59,200.00	\$0.38	\$56,240.00	\$0.01	\$1,480.00		\$59,200.00	\$0.50	\$74,000.00
143	5P10TMP	367,000.00	L.F.	Striping Traffic Stripes, Long - Life,	\$0.10	\$36,700.00	\$0.15	\$55,050.00	\$0.14	\$51,380.00	\$1.20	\$440,400.00	\$0.15	\$55,050.00	\$0.14	\$51,380.00
144	5P21LLS	16,360.00	L.F.	thermoplastic	\$0.40	\$6,544.00	\$0.47	\$7,689.20	\$0.44	\$7,198.40	\$0.58	\$9,488.80	\$0.45	\$7,362.00	\$0.44	\$7,198.40
				Traffic Markings, Symbols,												
145	5P32LLM	180	S.F.	Long - Life, Epoxy Resin	\$9.25	\$1,665.00	\$10.62	\$1,911.60	\$10.00	\$1,800.00	\$11.06	\$1,990.80	\$10.00	\$1,800.00	\$10.00	\$1,800.00
146	5Q01FOD	1	L.S.	Furnish Field Office, Type D	\$32,000.00	\$32,000.00	\$63,679.68	\$63,679.68	\$30,000.00	\$30,000.00	\$46,046.11	\$46,046.11	\$70,000.00	\$70,000.00	\$100,000.00	\$100,000.00

								Contrac	ct P200.046 - B	id Tabalation				1			
Temporal Miles Miles Company Miles			ITE	MS		South St	tate, Inc.	IEW Construc	tion Group, Inc	Railroad	/ Tarheel	Earle Asph	alt Company	RE Pierson Cons	struction Co., Inc.	Agate Construction Co., Inc.	
To	Item No.	Unit Code	QTY	UNIT	DESCRIPTION	RATE	AMOUNT			RATE	AMOUNT					RATE	AMOUNT
10	147	5Q01FOF	1	L.S.	Furnish Field Office, Type F	\$21,000.00	\$21,000.00	\$76,318.46	\$76,318.46	\$30,000.00	\$30,000.00	\$14,056.55	\$14,056.55	\$75,000.00	\$75,000.00	\$120,000.00	\$120,000.00
100	148	5Q02MFD	24	Month	Maintain Field Office, Type D	\$2,000.00	\$48,000.00	\$2,807.86	\$67,388.64	\$5,000.00	\$120,000.00	\$2,083.50	\$50,004.00	\$3,500.00	\$84,000.00	\$2,500.00	\$60,000.00
10	149	5Q02MFF	24	Month	Maintain Field Office, Type F	\$2,000.00	\$48,000.00	\$3,795.37	\$91,088.88	\$5,000.00	\$120,000.00	\$1,239.75	\$29,754.00	\$3,500.00	\$84,000.00	\$2,500.00	\$60,000.00
100 100	150	5S02SAL	1	L.S.		\$17,000.00	\$17,000.00	\$37,249.51	\$37,249.51	\$7,000.00	\$7,000.00	\$57,513.80	\$57,513.80	\$10,000.00	\$10,000.00	\$15,000.00	\$15,000.00
150	151	5U02CAN	1	L.S.		\$23,000.00	\$23,000.00	\$68,948.51	\$68,948.51	\$100,000.00	\$100,000.00	\$48,339.24	\$48,339.24	\$30,000.00	\$30,000.00	\$22,000.00	\$22,000.00
1997-1995			50			\$250.00									\$5,000.00		\$35,000.00
150					Quadguard Impact	,	,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,	, , , , , , , , , , , , , , , , , , , ,	, , , , , , , , , , , , , , , , , , , ,	,	, ,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,	*	• • •	,	, , , , , , , ,	,	* /
150	153	5X01QDG	1	Each		\$33,000.00	\$33,000.00	\$40,372.92	\$40,372.92	\$50,000.00	\$50,000.00	\$32,763.00	\$32,763.00	\$50,000.00	\$50,000.00	\$7,500.00	\$7,500.00
155 SYMMING 22 Each New Asset Page RG \$44.00 \$7.00.00 \$7.07.0	154	5Y01MRB	2	Each	Mile Marker, Type RB	\$47.00	\$94.00	\$74.07	\$148.14	\$69.75	\$139.50	\$110.50	\$221.00	\$70.00	\$140.00	\$80.00	\$160.00
1970			25	Each					\$1.851.75								\$2,000.00
107 02011999 0.00000 1 0.5																	\$8,800.00
198 SQUADE 1 L. S. New Willing Suddry \$1,960,000.00 \$1,960,000.00 \$1,760,000 \$1,760,000 \$1,000,000 \$1,							·			·				·			\$80,688.00
Formal Process for Name Prince Stock S	158	5ZK0002	1	L.S.	New Utility Building	\$1,690,000.00	\$1,690,000.00	\$1,763,000.00	\$1,763,000.00	\$2,000,000.00	\$2,000,000.00	\$1,500,000.00	\$1,500,000.00	\$1,820,000.00	\$1,820,000.00	\$1,527,330.70	\$1,527,330.70
Formation Part Pa			180														\$3,420.00
161 SAUGROP 248 L.P. PROFEC Conduit SSU 00 \$17.20.00 \$20.00 \$27.00 \$20.00					6" Ductile Iron Water Pipe			·				·					
Figs According Figs According Figs According Figs According Figs F	160	5ZL06DIP	245	L.F.		\$50.00	\$12,250.00	\$100.95	\$24,732.75	\$115.00	\$28,175.00	\$55.60	\$13,622.00	\$55.00	\$13,475.00	\$50.00	\$12,250.00
Project Metallic Controls Project Metallic Control	161	6A00046	520	L.F.		\$165.00	\$85,800.00	\$277.16	\$144,123.20	\$75.00	\$39,000.00	\$83.07	\$43,196.40	\$81.00	\$42,120.00	\$81.00	\$42,120.00
168	162	6A00042	600	L.F.	Underground	\$26.00	\$15,600.00	\$74.34	\$44,604.00	\$70.00	\$42,000.00	\$28.62	\$17,172.00	\$28.00	\$16,800.00	\$28.00	\$16,800.00
164 6A07MLC 28/38200 E. Upring Calife \$3.00 \$89,176.00 \$4.00 \$114,703.68 \$3.50 \$317,888.06 \$3.11 \$88,866.06 \$3.10 \$88,016.20 \$3.20 \$16,000 \$2.20 \$38,000 \$3.20 \$38,000	163	6A01RMS	90	L.F.	On Structure	\$75.00	\$6,750.00	\$31.86	\$2,867.40	\$30.00	\$2,700.00	\$82.41	\$7,416.90	\$81.00	\$7,290.00	\$82.00	\$7,380.00
166 6.0438RMJ 4.110.00 LF Underground 328.00 3117,130.00 \$28.00 \$21.24 \$87.206.40 \$30.00 \$82.200.00 \$88.200.00 \$28.806 \$311,107.80 \$25.50 \$3117,130.00 \$88.00 \$36.448.00 \$88.00 \$36.638.12 \$4.658.00 LF LP Underground \$77.50 \$34.170.00 \$53.470.00 \$5	164	6A02MLC	28,392.00	L.F.	Lighting Cable .	\$3.00	\$85,176.00	\$4.04	\$114,703.68	\$3.80	\$107,889.60	\$3.13	\$88,866.96	\$3.10	\$88,015.20	\$3.00	\$85,176.00
Feb 64,035PU 4,556.00 LF, Underground 57.50 \$3.4,170.00 \$5.31 \$24,192.38 \$5.00 \$22,780.00 \$3.00 \$3.00 \$3.00,539.12 \$3.00,539.12 \$3.00 \$3.00,539.12 \$3.00,539.12 \$3.00 \$3.00,539.12 \$3.00 \$3.00,539.12 \$3.00 \$3.00,539.12 \$3.00 \$3.00,539.12 \$3.00 \$3.00,539.12 \$3.00 \$3.00,539.12 \$3.00 \$3.00,539.12 \$3.00 \$3.00,539.12 \$3.00 \$3.00,539.12 \$3.00 \$3.00,539.12 \$3.00 \$3.00,539.12 \$3.00 \$3.00,539.12 \$3.00 \$3.00,539.12 \$3.00 \$3.00,539.12 \$3.00 \$3.00,539.12 \$3.00 \$3.00 \$3.00,539.12 \$3.00 \$3.00,539.12 \$3.00 \$3.00,539.12 \$3.00 \$3.00,539.12 \$3.00 \$3.00,539.12 \$3.00 \$3.00,539.12 \$3.00 \$3.00,539.12 \$3.00 \$3.00,539.12 \$3.00 \$3.00 \$3.00,539.12 \$3.00 \$3.00,539.12 \$3.00 \$3.00,539.12 \$3.00 \$3.00,539.12 \$3.00 \$3.00,539.12 \$3.00 \$3.00,539.12 \$3.00 \$3.00,539.12 \$3.00 \$3.00,539.12 \$3.00 \$3.00,539.12 \$3.00 \$3.00,539.12 \$3.00 \$3.00,539.12 \$3.00 \$3.00,539.12 \$3.00 \$3.00,539.12 \$3.00 \$3.00,539.12 \$3.00 \$3.00,539.12 \$3.00 \$3.00,539.12 \$3.00 \$3.00,539.12 \$3.00 \$3.00,539.12 \$3.00 \$3.00,539.12 \$3.00 \$3.00,5	165	6A03RMU	4,110.00	L.F.	Underground	\$28.00	\$115,080.00	\$21.24	\$87,296.40	\$20.00	\$82,200.00	\$28.98	\$119,107.80	\$28.50	\$117,135.00	\$28.00	\$115,080.00
168	166	6A033PU	4,556.00	L.F.		\$7.50	\$34,170.00	\$5.31	\$24,192.36	\$5.00	\$22,780.00	\$8.02	\$36,539.12	\$8.00	\$36,448.00	\$8.00	\$36,448.00
168 6418RNC 11,800.00 LF. Conduit, PVC-(Schedule \$7.50 \$88,500.00 \$6.37 \$75,166.00 \$6.00 \$70,800.00 \$8.00 \$84,636.00 \$8,00 \$94,400.00 \$7.55	167	6A08GWR	10,393.00	L.F.	#8 A.W.G. Ground Wire	\$1.25	\$12,991.25	\$1.59	\$16,524.87	\$1.50	\$15,589.50	\$1.37	\$14,238.41	\$1.35	\$14,030.55	\$1.35	\$14,030.55
169 6A21JF1	168	6A13PNC	11 800 00	l F	Conduit, PVC-(Schedule	\$7.50	\$88 500 00	\$6.37	\$75,166,00	\$6.00	\$70,800,00	\$8.02	\$94.636.00	\$8.00	\$94.400.00	\$7.85	\$92,630.00
199 6A21JET 42 Each Type 1 \$3,800.00 \$159,600.00 \$3,290.00 \$3,390.00 \$3,390.00 \$3,397.19 \$3,000.00 \$3,977.19 \$3,000.00 \$3,977.19 \$3,000.00 \$3,977.19 \$3,000.00 \$	100	OATSINIC	11,000.00	L.I .	,	ψ1.50	ψου,3ου.ου	ψ0.57	ψ73,100.00	ψ0.00	ψ10,000.00	ψ0.02	ψ04,000.00	ψ0.00	ψ54,400.00	Ψ1.03	Ψ32,030.00
171 6.665RAS 1	169	6A21JF1	42	Each	'	\$3,800.00	\$159,600.00	\$3,292.00	\$138,264.00	\$3,100.00	\$130,200.00	\$3,977.19	\$167,041.98	\$3,900.00	\$163,800.00	\$4,000.00	\$168,000.00
171	170	6A24JBC	30	Each		\$3,200.00	\$96,000.00	\$2,601.74	\$78,052.20	\$2,450.00	\$73,500.00	\$3,435.69	\$103,070.70	\$3,300.00	\$99,000.00	\$3,500.00	\$105,000.00
172 6A00035 100 LF. Underground \$25.50 \$2,550.00 \$29.20 \$2,920.00 \$27.50 \$2,750.00 \$26.91 \$2,691.00 \$26.50 \$2,650.00 \$26.00	171	6A65RAS	1	Lump	Existing Facilities	\$19,750.00	\$19,750.00	\$18,583.86	\$18,583.86	\$359,397.00	\$359,397.00	\$65,325.00	\$65,325.00	\$21,000.00	\$21,000.00	\$21,000.00	\$21,000.00
Flat Glass, Forward Throw Reflector, IES Type IV, 150 S1,200.00 S1,592.90 S43,008.30 S1,500.00 S40,500.00 S1,266.30 S34,190.10 S1,250.00 S1,25	172	6A00035	100	L.F.	3	\$25.50	\$2,550.00	\$29.20	\$2,920.00	\$27.50	\$2,750.00	\$26.91	\$2,691.00	\$26.50	\$2,650.00	\$26.00	\$2,600.00
P4 Mongoose Luminaire, Flat Glass, Forward Through Reflector, IES Flat Glass, Forward Through Reflector, IE					Flat Glass, Forward Throw												
Flat Glass, Forward Through Reflector, IES Type IV, 250 WATT \$1,200.00 \$22,800.00 \$1,592.90 \$30,265.10 \$1,500.00 \$28,500.00 \$1,303.49 \$24,766.31 \$1,300.00 \$24,700.00 \$1,285.00 \$1,750.00 \$1,285.00 \$1,592.90 \$1,5	173	6B15P4M	27	Each		\$1,200.00	\$32,400.00	\$1,592.90	\$43,008.30	\$1,500.00	\$40,500.00	\$1,266.30	\$34,190.10	\$1,250.00	\$33,750.00	\$1,250.00	\$33,750.00
175 6B40LMG2 12 Each MG2-40 \$2,300.00 \$27,600.00 \$2,814.13 \$33,769.56 \$2,650.00 \$31,800.00 \$2,361.75 \$28,341.00 \$2,300.00 \$27,600.00 \$2,320.00 \$2,					Flat Glass, Forward Through Reflector, IES												
175 6B40LMG2 12 Each MG2-40 \$2,300.00 \$27,600.00 \$2,814.13 \$33,769.56 \$2,650.00 \$31,800.00 \$2,361.75 \$28,341.00 \$2,300.00 \$27,600.00 \$2,320.00 \$2,	174	6B25P4M	19	Each	1 7 1	\$1,200.00	\$22,800.00	\$1,592.90	\$30,265.10	\$1,500.00	\$28,500.00	\$1,303.49	\$24,766.31	\$1,300.00	\$24,700.00	\$1,285.00	\$24,415.00
Flat Glass, Forward Through Reflector, IES Type IV, 400 WATT \$1,250.00 \$10,000.00 \$1,646.00 \$13,168.00 \$1,550.00 \$12,400.00 \$1,328.61 \$10,628.88 \$1,300.00 \$10,400.00 \$1,300.00 \$1,300.00 \$1,700.00 \$1,700.00 \$1,700.00 \$1,300.00 \$1,700.00 \$1,300.00 \$1,000	175	6B40LMG2	12	Each	MG2-40	\$2,300.00	\$27,600.00	\$2,814.13	\$33,769.56	\$2,650.00	\$31,800.00	\$2,361.75	\$28,341.00	\$2,300.00	\$27,600.00	\$2,320.00	\$27,840.00
177 6845LMG 30 Each Lighting Standard, Type L- \$2,050.00 \$61,500.00 \$2,495.55 \$74,866.50 \$2,350.00 \$70,500.00 \$2,189.90 \$65,697.00 \$2,150.00 \$64,500.00 \$2,150.00 \$2					Flat Glass, Forward Through Reflector, IES												
178 6C00008 8 Each Beacon Assembly \$2,700.00 \$21,600.00 \$2,070.77 \$16,566.16 \$1,950.00 \$15,600.00 \$2,944.65 \$23,557.20 \$2,900.00 \$23,200.00 \$2,915.00 \$179 N610001 1 L.S. Toll Plaza Electrical Work \$18,000.00 \$18,000.00 \$24,955.46 \$24,955.46 \$36,000.00 \$36,000.00 \$494,356.49 \$494,356.49 \$20,500.00 \$20,500.00 \$10,000.00 \$180,000.00 \$180,000.00 \$180,000.00 \$10,000.00 \$180,000.00 \$10,000.00 \$180,000.00 \$10,0	176	6B40P4M	8	Each		·	\$10,000.00			. ,	\$12,400.00					·	\$10,400.00
179 N6I0001 1 L.S. Toll Plaza Electrical Work \$18,000.00 \$18,000.00 \$24,955.46 \$24,955.46 \$36,000.00 \$36,000.00 \$494,356.49 \$20,500.00 \$20,500.00 \$10,000.00 \$18,000.00 \$18,000.00 \$18,000.00 \$18,000.00 \$18,000.00 \$18,000.00 \$18,000.00 \$10,000.			30		12" Flashing Warning					·							\$64,500.00
180 N6J0001 1 L.S. Lightning Protection System \$8,700.00 \$8,700.00 \$13,274.18 \$12,500.00 \$12,500.00 \$9,073.14 \$9,073.14 \$9,000.00 \$9,000.00 \$8,950.00 181 N6J0002 1 L.S. As-Built Electrical System \$9,500.00 \$7,964.51 \$7,964.51 \$7,500.00 \$7,500.00 \$10,207.79 \$10,207.79 \$10,400.00 \$10,000.00			8														\$23,320.00
180 N6J0001 1 L.S. System \$8,700.00 \$13,274.18 \$13,274.18 \$12,500.00 \$12,500.00 \$9,073.14 \$9,073.14 \$9,000.00 \$9,000.00 \$8,950.00 181 N6J0002 1 L.S. As-Built Electrical System \$9,500.00 \$7,964.51 \$7,964.51 \$7,500.00 \$7,500.00 \$10,207.79 \$10,207.79 \$10,400.00 \$10,400.00 \$10,000.00	179	N6I0001	1	L.S.		\$18,000.00	\$18,000.00	\$24,955.46	\$24,955.46	\$36,000.00	\$36,000.00	\$494,356.49	\$494,356.49	\$20,500.00	\$20,500.00	\$10,000.00	\$10,000.00
181 N6J0002 1 L.S \$9,500.00 \$9,500.00 \$7,804.51 \$7,500.00 \$7,500.00 \$10,207.79 \$10,207.79 \$10,400.00 \$10,400.00 \$10,000.00	180	N6J0001	1	L.S.		\$8,700.00	\$8,700.00	\$13,274.18	\$13,274.18	\$12,500.00	\$12,500.00	\$9,073.14	\$9,073.14	\$9,000.00	\$9,000.00	\$8,950.00	\$8,950.00
1 IVMC Cunnort Equipment	181	N6J0002	1	L.S.	· ·	\$9,500.00	\$9,500.00	\$7,964.51	\$7,964.51	\$7,500.00	\$7,500.00	\$10,207.79	\$10,207.79	\$10,400.00	\$10,400.00	\$10,000.00	\$10,000.00
182 6K00003 1 L.S. and Components \$25,000.00 \$25,000.00 \$41,946.42 \$41,946.42 \$39,500.00 \$27,563.03 \$27,563.03 \$27,563.03 \$28,000.00 \$27,000.00	182	6K00003	1	L.S.	VMS Support Equipment and Components	\$25,000.00	\$25,000.00	\$41,946.42	\$41,946.42	\$39,500.00	\$39,500.00	\$27,563.03	\$27,563.03	\$28,000.00	\$28,000.00	\$27,000.00	\$27,000.00

Contract P200.046 - Bid Tabulation																
		ITEN	//S		South S	State, Inc.	IEW Construc	tion Group, Inc	Railroad	/ Tarheel	Earle Asph	alt Company	RE Pierson Con	struction Co., Inc.	Agate Constru	ction Co., Inc.
Item No.	Unit Code	QTY	UNIT	DESCRIPTION	RATE	AMOUNT	RATE	AMOUNT	RATE	AMOUNT	RATE	AMOUNT	RATE	AMOUNT	RATE	AMOUNT
				Furnish & Install Variable												
183	6K02VMS	1	Each	Message Sign	\$125,000.00	\$125,000.00	\$135,396.66	\$135,396.66	\$127,500.00	\$127,500.00	\$129,196.77	\$129,196.77	\$130,000.00	\$130,000.00	\$127,000.00	\$127,000.00
184	7C01TOP	287,898.00	S.Y.	Topsoil	\$1.10	\$316,687.80	\$1.17	\$336,840.66	\$1.10	\$316,687.80	\$1.57	\$451,999.86	\$1.15	\$331,082.70	\$1.50	\$431,847.00
405	7000000	470.070.00	0.1/	Seeding, Type No Mow	#0.00	#00.044.04	CO 40	Ф 7 4 504 00	#0.00	#00.044.04	#0.70	# 400 004 40	CO 40	Ф 7 4 504 00	64.00	¢470.070.00
185	7D09SED	178,978.00	S.Y.	Mix	\$0.38	\$68,011.64	\$0.40	\$71,591.20	\$0.38	\$68,011.64	\$0.72	\$128,864.16	\$0.40	\$71,591.20	\$1.00	\$178,978.00
186	7D13SED	104,703.00	S.Y.	Seeding, Type parkway South - Mainline	\$0.76	\$79,574.28	\$0.81	\$84,809.43	\$0.76	\$79,574.28	\$0.72	\$75,386.16	\$0.75	\$78,527.25	\$1.00	\$104,703.00
	72.0022	,		Seeding, Type Parkway	4 011.0	V · V (V)	*****	40.,000	*****	Q. 0,0.	*****	4.0,000	70	V : 0,0=::=0	7.112	*****
187	7D15SED	4,217.00	S.Y.	South - Facility Seed Mix	\$0.76	\$3,204.92	\$0.81	\$3,415.77	\$0.76	\$3,204.92	\$0.72	\$3,036.24	\$0.75	\$3,162.75	\$2.00	\$8,434.00
				Permanent Soil												
188	7F02SSM	178,978.00	S.Y.	Stabilization Matting	\$4.00	\$715,912.00	\$4.25	\$760,656.50	\$4.00	\$715,912.00	\$1.76	\$315,001.28	\$4.00	\$715,912.00	\$3.50	\$626,423.00
189	7L01NVA	17,157.00	S.Y.	Nonvegetative Surface, Hot Mix Asphalt	\$19.50	\$334,561.50	\$17.09	\$293,213.13	\$20.00	\$343,140.00	\$16.17	\$277,428.69	\$16.00	\$274,512.00	\$19.00	\$325,983.00
109	/LUTINVA	17,137.00	3.1.	Furnishing Traffic Control	φ19.30	\$334,301.30	\$17.09	Ψ293,213.13	\$20.00	ψ343, 140.00	\$10.17	φ277,420.03	\$10.00	φ274,312.00	φ19.00	\$323,963.00
190	8A01MPT	1	L.S.	Devices	\$1,150,000.00	\$1,150,000.00	\$1,499,934.81	\$1,499,934.81	\$1,300,000.00	\$1,300,000.00	\$206,816.79	\$206,816.79	\$1,750,000.00	\$1,750,000.00	\$1,500,000.00	\$1,500,000.00
191	8A02MPT	2,000.00	M.H.	Traffic Directors	\$0.01	\$20.00	\$78.56	\$157,120.00	\$75.00	\$150,000.00	\$70.72	\$141,440.00	\$81.10	\$162,200.00	\$76.00	\$152,000.00
				Precast Concrete Curb												
192	8A03MPT	32,390.00	L.F.	Construction Barrier	\$15.00	\$485,850.00	\$37.70	\$1,221,103.00	\$25.00	\$809,750.00	\$45.89	\$1,486,377.10	\$24.30	\$787,077.00	\$60.00	\$1,943,400.00
				Police Traffic Directors												
				(This is a NO-BID, Lump												
				Sum item for this contract.												
				The Lump Sum price is												
				\$200,000. Enter a Unit												
				Price of \$200,000 as your bid for this item.)												
193	8A22MPT	1	L.S.	bid for triis iterii.)	\$200,000.00	\$200,000.00	\$200,000.00	\$200,000.00	\$200,000.00	\$200,000.00	\$200,000.00	\$200,000.00	\$200,000.00	\$200,000.00	\$200,000.00	\$200,000.00
				Placing and Removing												
404	NOAGOOG	EC 440 00		Precast Concrete	¢2.50	¢407 540 00	¢40.50	¢502.740.00	\$2.50	£407 E40 00	PC 75	#200 070 00	£40.00	#E00.004.00	#22.00	£4 000 000 00
194	N8A0002	56,440.00	L.F.	Construction Barrier	\$3.50	\$197,540.00	\$10.52	\$593,748.80	\$3.50	\$197,540.00	\$6.75	\$380,970.00	\$10.60	\$598,264.00	\$32.00	\$1,806,080.00
				Resetting Precast Concrete Construction												
195	N8A0003	80,200.00	L.F.	Barrier	\$1.40	\$112,280.00	\$3.71	\$297,542.00	\$1.50	\$120,300.00	\$1.80	\$144,360.00	\$3.00	\$240,600.00	\$0.01	\$802.00
				Furnishing Temporary												
				Impact Attenuator,												
196	N8A0005	6	Each	Frangible Module Type A	\$4,100.00	\$24,600.00	\$5,086.27	\$30,517.62	\$12,000.00	\$72,000.00	\$5,968.58	\$35,811.48	\$4,400.00	\$26,400.00	\$4,000.00	\$24,000.00
				Placing and Removing												
				Temporary Impact Attenuator, Frangible												
197	N8A0006	5	Each	Module Type	\$2,200.00	\$11,000.00	\$2,632.30	\$13,161.50	\$7,500.00	\$37,500.00	\$6,820.36	\$34,101.80	\$2,070.00	\$10,350.00	\$16,000.00	\$80,000.00
	140/10000			Furnishing Temporary	V =,=00100	***,*******		V 10,101100	41,000100	Q 01,000100	40,0=0.00	40.,101.00	V =,01010	V 10,000100	V 10,000	**********
				Impact Attenuator,												
198	N8A0012	4	Each	Quadguard	\$3,450.00	\$13,800.00	\$31,645.65	\$126,582.60	\$35,000.00	\$140,000.00	\$32,122.35	\$128,489.40	\$8,000.00	\$32,000.00	\$8,000.00	\$32,000.00
	[Placing And Removing												
199	NOAGOAG	2	Each	Temporary Impact Attenuator, Quadguard	\$1,400.00	\$2,800.00	\$2,654.84	\$5,309.68	\$12,000.00	\$24,000.00	¢10 571 05	¢24 442 50	\$0.01	\$0.02	\$3,000.00	\$6,000,00
199	N8A0013	2	Eacn	Attenuator, Quauguard	\$1,400.00	\$∠,800.00	ֆ∠,ხე4.84	გ ე,ას9.68	\$12,000.00	\$24,000.00	\$10,571.25	\$21,142.50	\$0.01	\$0.02	\$3,000.00	\$6,000.00
				Repair Temporary Impact												
200	N8A0014	14	Bay	Attenuators, Quadguard	\$0.01	\$0.14	\$265.48	\$3,716.72	\$5,000.00	\$70,000.00	\$2,803.95	\$39,255.30	\$0.01	\$0.14	\$2,000.00	\$28,000.00
				Furnish Variable Message					*		*					*
201	8B25MPT	8	Each	Sign	\$1,000.00	\$8,000.00	\$6,669.15	\$53,353.20	\$7,000.00	\$56,000.00	\$16,875.00	\$135,000.00	\$19,000.00	\$152,000.00	\$50,000.00	\$400,000.00
600		4 500 00		Standby Wrecker Service	** - ·	A.5	* 400 :=	#450.005.	* 450	#00 <u>=</u> 000 ==	* =0	675.075.	0.05	#457 500 55	0000 5	#000 000 5T
202	N8G0001	1,500.00	Hour		\$0.01	\$15.00	\$106.19	\$159,285.00	\$150.00	\$225,000.00	\$50.25	\$75,375.00	\$105.00	\$157,500.00	\$200.00	\$300,000.00
				Portland Cement Concrete												
203	3D08PCP	15	S.Y.	Pavement, 8" Thick	\$200.00	\$3,000.00	\$212.39	\$3,185.85	\$100.00	\$1,500.00	\$167.83	\$2,517.45	\$139.00	\$2,085.00	\$125.00	\$1,875.00
204	7L01GWM	410	C.Y.	Gabion Wall Modification	\$300.00	\$123,000.00	\$208.22	\$85,370.20	\$400.00	\$164,000.00	\$238.81	\$97,912.10	\$182.00	\$74,620.00	\$300.00	\$123,000.00
				Pavement Removal, 5"	711100	,	7	, ,	+	, ,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,	+	, , , , , , , , , , , ,	Ţ:12.00	,==::00	,,,,,,,	,
205	3E14PMR	86,320.00	S.Y.	Depth	\$5.00	\$431,600.00	\$2.65	\$228,748.00	\$4.50	\$388,440.00	\$3.32	\$286,582.40	\$2.20	\$189,904.00	\$3.00	\$258,960.00
			_	Substructure Membrane												
206	N4J0001	1,340.00	S.F.	Waterproofing	\$10.00	\$13,400.00	\$16.99		\$16.00	\$21,440.00	\$8.75	\$11,725.00	\$3.15	\$4,221.00	\$50.00	\$67,000.00
		TOTAL OF AB	OVE ITEMS			\$45,675,622.31		\$49,011,874.48		\$50,699,653.71		\$41,958,933.03		\$46,497,822.19		\$48,602,571.33
							F	Back to Compar	e Rids							

Back to Compare Bids